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Attempt any Five questions.
All questions carry equal marks.
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1. What is a production possibility curve ? Explain why
it is concave to the origin ? With the help of a diagram
explain how it illustrates the problem of choice in an
economy. What causes a shift in the production
possibility curve ? (14)
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2. Explain the income effect and substitution effect of a
fall in the price of a commodity with the help of a
diagram. Show how price effect can be divided into
income effect and substitution effect for a normal
good and an inferior good. (14)
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3. State and explain the law of Variable Propoptions.__
Define the three stages of production using a diagram.
Why do increasing returns to a factor occur ? What
is the stage in which a rational producer will produce -
and why ? : (14)

TRaEe ST ® o w wRE W gr See @
wIfY | R =t wewa ¥ @ Faw o @9 smem Rl
R | AT A TeR §E | ¥ wRwd Ber T wro
2 ? v Raedie Saes e smen ¥ SaeT s ok
4 ?



2377 3

4.

Derive the short run supply curve of a perfectly
competitive firm. What are the three possible shapes
of the supply curve in the long run ? (14)
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The theory of comparative advantage states that when
countries specialize in producing goods in which they
have a comparative advantage, they maximize their
combined output with trade. Explain with the help of

an example. -
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Define national income. Why is the difference between
final goobds and intermediate goods important in
measurement of national income ? Describe the
method which is being followed for national income

estimation in India. : (14)
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7.

(2) In an economy consumption is C = 50 + 0.8Y
And investment is I = 70

Calculate the equilibrium level of income. If a
deflationary gap of magnitude 20 exists In the
economy then calculate the full employment level
-of income and the value of the multiplier.
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(b) Define multiplier. Why does it take a value
greater than or equal to one ? How does marginal
propensity to consume affect the multiplier ?

(6+8)
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Explain “crowding out”. With diagrams illustrate full
crowding out and zero crowding cases, (144)

TSR T (Rt ot =t &t e o e ) W
T Ao | Fr =t weme ¥ = wws 3T’ SR “qot
FSRT ST’ H qHE |

(400)



